-

TET Emtron

Antem’ia Systems -

INSTRUCTION MANUAL

TE-53

TET EMTRON.

nnnnnn Manufacturers.
47 Ocean Drivi h: 08 9927 1872

PORT DENISON.
estern Australia 6056. www.letemiron.com.au



2.0
1.5
1.0

TET-Emtron ™

YAGI BEAM ANTENNA FOR 10, 15, AND 20 METER BAND
MODEL TE-53

Description

The “TET-Emtron ™" model TE-53 is an optimum performance 5 element HF Beam
Antenna. Built with high efficiency traps, all stainless steel hardware and rugged
aluminium construction, guarantee a long and trouble-free operation. As trap type
antennas are generally considered narrow banded, the TE-53 gives an SWRof 1.5
or less across the entire operating band, and therefore does not need any
re-adjusting for PHONE or CW band.

This antenna is made from Marine Grade 6000 Series Aluminium, all predrilled and
partly pre-assembled components - THIS ANTENNA IS MADE TO LAST!

By following the instruction, you will find that the antenna is simple to assemble and
when correctly installed, a top performer.

Specifications
FREQUENCY 14, 21, 28 MHz
ELEMENT LENGTH 7.58m
BOOM LENGTH 83m
GAIN dBi 12
FRONT TO BACK RATIO 25/ 20/ 20 dB
FEED IMPEDANCE 50 OHM
TURNING RADIUS 8.3m
WEIGHT 18 kg
SWR Better than 1.5 across the band
_20M VSWR 20 15M VSWR
L — 1.5
i . [ ——
14.000 100 200 300 400 0 21.000 100 200 300 400 500 600
20 __10M VSWR
15 ]
sol It all
"~ 28.000 500 29.000 200

TET-Emtron 2 TE -53  01/02/14



ASSEMBLY PROCEDURE

It is recommended that you familiarise yourself with instructions, diagrams and parts
list.

In order to make assembly of the antenna as simple as possible, carefully follow the
instructions below. Proper preparation will help you to avoid later disruptions and
inconvenience.

1. Check parts list and make sure that nothing is missing
2. Assemble the boom as per FIG. 2
3. Assemble the element clamp assembly for radiator as per FIG. 3.

4. Completely assemble the driven element (Radiator) as per FIG. 3 and attach it
to the element clamp assembly as per FIG. 3 and FIG. 6. Your driven element
is now complete and ready to be attached to the boom.

5. Assemble the Reflector and Director elements as per FIG. 4.

6. Assemble the element clamp assembly for the Reflector and Director as per
FIG. 4 and FiG. 7.

7. Attach the assembled Reflector and Directors to the element clamp
assemblies as per Fig. 4 and FIG. 7. Your Reflector and Director elements
are now complete and ready to be attached to the boom.

8. Accurately mark the position of Reflector, Radiator and Directors on the Boom
Assembly and attach all four elements to the boom as per FiG. 1, 2and 4.

9. Now make sure that all elements lie in the same horizontal plane and the U-
bolts are tightened.

10.  Your antenna is now completely assembled.

Now make a final inspection and note:

a) When screwing parts together, there must be a spring washer under
every nut and self-tapping screw.

b) Tighten firmly but do not over tighten nuts, bolts and self-tapping
SCTews.

c) Double check all dimensions as per FIG. 1 and make sure the antenna
is correctly assembled.

11.  Now assemble the boom to mast clamp. See FIG. 5 and attach it to the boom
as close as possible to the centre of gravity or point of balance.

12.  Now attach 50 OHM Coaxial Line directly to the Radiator Terminal and make

sure that the Coanxial shield end is connected via the earth strap directly to one
of the “U” bolts by the additional 8mm nut and washer.

TET-Emtron 3 TE-53 01/02/14



13.  Now instail the antenna on a mast or tower. It is recommended that the height
of the antenna is at least ONE HALFWAVE at the lowest frequency.

PLEASE NOTE:  All screws and trap drain holes must be positioned at the bottom
of the element. If you wish to utilise a BALUN, the EMTRON
EB-11 is recommended.

WARNING!

Installation of this product near power lines is dangerous for your
safety.

If you are installing an antenna for the first time, please for your safety as
well as others, seek professional assistance. Your dealer should be able
to explain available mounting methods for your particular antenna.

Select your installation site with SAFETY as well as performance in
mind. REMEMBER: ELECTRIC POWER LINES AND PHONE LINES
OFTEN LOOK ALIKE. FOR SAFETY ASSUME THAT ANY OVERHEAD
LINES CAN KILL. The minimum recommended safe distance from
powerlines is TWICE the OVERALL height of your antenna.

If you are unable to maintain this distance,

STOP!! GET PROFESSIONAL HELP!

Plan your installation procedure carefully before you begin. Successful
raising of a mast or tower is largely a matter of coordination. Each
person should be assigned to a specific task and should know exactly
what to do and when to do it. One person should be designated as the
“boss” of the operation to call out instructions and watch for signs of
trouble.

“IN GENERAL, BE CAREFUL!”

TET-Emtron 4 TE-53 01/02/14



TE-53 PARTS LIST
CODE DESCRIPTION QTY
TE391 Boom Section 2m x 48mm 4

1. Boom Joiner Kits x 2.

TE392 BOOM JOMIEE ...t eeeee e va e ee e st e s ee s aeaneenannss 1
TEO34 MB Xx55mm SS Bolt. ... 2
TEOO4 MB S8 NUL ..ottt e 2
TEQO14 MB SS LoCKk WaASher ... 2

2. Boom Extender kit.

TE393 Boom EXIenAer ..o e 1
TEO34 MB X 55MIM SS BOM ....ooeeeecvienenrerrcnreecremeenenenaees 2
TEOO4 MB S8 NUL e s e s e aaesrerseeseseeembens 2
TEO14 MB SS LOCKWASNET ..o 2

3. Boom fo Mast Mounting Kit

TE397 Al Extrusion 160mm. e 1
TE396 Al EXtrusion 100mim. ..o 1
TEOS1 MB SS U™ BO oot eeeeeeer e e e e er e aeannnas 4
TEOQS MB SS NUL ... eeee e e rrreeeeeeareeeeamn e e e s ansnnnas 8
TEO015 Brm SS Lock Washer .. ... 8

4. Radiator Mounting Kit.

TE398 Al Bxtrusion 70mm. ..o 1
TES02 INSUIAIOT BIR25 . ..o oo eeeaeae e s e r e mrise s esnasenaens 2
TEGS54 Centre Insulator 380 mim ... 1
TEO91 MB SS “U  DOK oo eeeecee s eeeme e e a e nenas 1
TEOOS MB S8 NUL ..o ee e e e e e r e e ez e aneas 3
TEQ15 B8mm SS Lock Washer ..........oovm s 3
TEO93 MB SS“U" Bolt 64mm X 42MmM ..o 2
TEOO4 MB S8 NUL et teereeer e s s aer e e e cceacsss s e e s e e enrnnees 4
TEO14 BMM SS LockWasher ..., 4
TEO033 MAXA0MM SS BOM ... 2
TEOO02 MA SO NUL ..ottt ae e e eee et e i 4
TEO12 AmMmMm LOCK WaASheTIS ..o cre e rtrr e e 4
TEB53 Earth Srap.........coceviicrieiieiienee s 1
TE021 M4 Flat Washers. ... 4

5. Reflector/ Director Mounting Kits x 4.

TE395 Al ExXtrUSION SO . . ..ot ee s e e ee e raaes 1
TE091 M8 S U BB it 1
TEQQS M8 S NUL oottt tiae e e et e e e e e e e e neran s e nanas 2

TET-Emtron 5 TE-53 01/02/14



TED15 8mm SS Lock Washer ..ot 2

TEQ92 MB SS U Bolt 44mm X 33MM c.ceenniieiiceeeeecee e 2
TEQO4 MB SS NUL .ttt e e ee e e e e e 4
TEQ14 MB LoCK Washer .. ..o 4
TEQ70 Element Joiner 380mm x22mm .............cc.coovvvinennn e 1

6. Radiator Kit.

TE361 Main Element 1748mm x 25.4mm ..o, 2
TE352 Sub-Element 900mm X 22mMIM ..o eveee e eees 2
TE250 Rad. Trap Assembiy .......ccooieiri i ecirere e 2

7. Reflector Kit.

TE362 Main Element 1998mm X 25.4mMM ..._.....oooviciiiiiieeeeeanenees 2
TE351 Sub Element 835mm X 22mMM.......coovveerereeee e 2
TE253 Ref Trap Assembly ... 2

8. Director Kit.

TE365 Main Element 1748mm x 25.4mm ...........coovviieiiicieecee 2
TE353 Sub Element 890mMm X 22MM......onocviiieieieee e ae e eeaee 2
TE251 Dir. 1 Trap ASSEmMDIY ..., 2

9. Director 2 Kit.

TE365 Main Element 1748mm X 25 4mMIM ....ooeeneieeeeeeeeeeeeeeeee e 2
TE353 Sub Element 690mim X 22N ......oooiieenieeeeere e ceveeseennans 2
TE252 Dir. 2 Trap Assembly ..., 2

10. Director 3 Kit.

TE365 Main Element 1748mmx254mm ... ... 2
TE374 Sub Element 655mIm X 220N c.oveveeceeeeeeeeeeveeeeeereiesaeannes 2
TE261 Dir. 3 Trap Assembly .........oocomiieiiieiee et 2

11. Hardware Kit.

TE051 4mm (No.8) SS Self Tapping Screw ... 28
TEQ12 Amm SS Lock Washer ... 28
12. Accessories

TE711 MANUAL......oeiee et ee e e et et r e e s e n e s anas 1
TEQ01 (07 1 £ (o 1 [OURUR SO 1
TES76 Spares Kit..........oo oo 1

TET-Emtron 6 TE~-53 01/02/14



8300

s
‘<
*
-4—IA — A v = -——-A —
; 3380mm ’ e 3380mm 4_!
l——-=§___==‘— - L‘Fa! |: -“ =T
D3 o I
_ ' 1950
;l
F B —-—B e
- . SHATGm L 3415mm -
— T 1 _j — 1} 4
—  — - ‘
D2
1950
- C — - e |
3580mm . 3580mm N ——— l
':_-—: - - - ™ =]
, "
| R 1900
rjumi
r—— b —= Q‘LH e ¢ %
"y 3800mm = 3800mm J
P i — ' e B WWWREEREE e ————— e ———
. ' ;_";— g — . ‘:
— - . __— A
RA |
' Element lengths are approximate »
as factory tuning may differ.
2415
— _4042mm . 4042mm el
e £ e Y

TET-Emtron

Note: 1 Total boom length is 8300.
2. Element clamps should be 40 mm from the end of the boom, u-

bolts to the inside.
- 3. Parts A-E are factory assembled.

FIG.1

7 TE-53 01/02/14




Y | -
ﬁ% BOOM ASSEMBLY
1 1 The boom consists of two sections. Insert the boom
| ]

joiner into rhe end of one section, align the pre-drilled
holes and secure with (M6x55) screw, (M6) nuts and

(M6) washer.
BOGM SECTION ="
2m LONG SCREW (MO x 55)
t
BOOM SECTION A"
BOOM JOINER 2m LONG
M6 WASHER .'.
i
FIG. 2 .
. M6 NUT

Refer to fig 1. and Fig 3.
Using a felt tipped pen place marks on the boom where the ELEMENT CLAMP ASSEMBLY WILL BE FIXED.
Measurements will be made beginning 20mm from the edge of the boom.

RADIATOR ELEMENT ASSEMBLY & ELEMENT CLAMP
ASSEMBLY

Insert each element and align pre-drilled holes.
Secure with self-tapping screws and M4 Lock
washers.

ELEMENT BRACKET BR25
SELF TAPPING SCREW

e ELEMENT CLAMP ASSEMBLY
E M6 WASHER

ALUMINIUM EXTRUSION 70mm ] &
ME NUT

FIG. 3

TET-Emtron 8 TE-53 01/02/14



DIRECTOR ASSEMBLY & REFLECTOR ASSEMBLY

SELF TAPPING STREW

U BoLT
LF TAPPING SCREW

8mm “U" BOLT HOLES
FOR B00M MOUNT

S M4 WASHER

&
SELF TAPPING SCREW
ELEMENT CLAMP ASSEMBLY

\/ SEE FIG. 7

S5mm ALUMINIUM EXTRUSION

& MM "U" CLAMP HOLES
FOR ELEMENT MOUNTING

FIG. 4

BOOM TO MAST ASSEMBLY

“ 5

(o 00mm & 160mm
:LUMNIUM_ EXTRUSION Fl G - 5

TEA{-Emtron Y 1r—>3 ULuL/ 14



MOUNTING OF RADIATOR TO THE BOOM

Refer Fig. § far assembly details.
1. Insert the main element into the BR25element bracket which is mounted on the rectangular tube.

2. Adjust the spacing between left and right main element the coax cable terminal.

CENTRE INSULATOR

COAX CABLE TERMINAL L] -—
A0 * 4mm BOLT — RADIATOR
2 i + EARTH STRAP

NOTE: IF BALIN IS NOT USED, THE "SHIELD END" ON COAXIAL CABLE TERMINAL MUST BE CONNECTED
TG EARTH VIA EARTH STRAP TO THE 8 MM ™U" BOLT WITH A SEPERATE 8 MM NUT AND WASHER.

MOUNTING OF REFLECTOR AND DIRECTOR TO THE BOOM

& e " BOLY

Sem “U” BOLT N i

TE-53 01/02/14

TET-Emtron 10



